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2. Let 2% + zy + 2> = 1.
Find % = 2(a) and % = 2(b) at (z,y) = (1,0).
3. Find the interval = 3(a) of convergence of the power series
00 o gt .
2 (—=1)"- 1 and its sum = 3(b)
4. The graph of the equation y = ot 3)2 is strictly increasing on the interval
= 4(a) and concave upward on the interval = 4(b)
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5. Evaluate / 7%~ dz from the known integral / e~ dx = g
0 0
x a® %
6. Show that F(z) = 5\/ a? — 22+ Y arcsin (—) , a > 0 is an anti-derivative for
a

f(z) =+Va? — 22

1
7. Let z=1n <1 -{_': a:) where £ = cost, y = tant. Use the chain rule to find the
(]
value of e when t = 0.
dt

8. An observer at (3,6) is watching an object descend the graph y? = x. At what

point of it’s path is the object closest to the observer.
9. Find the area of surface / / 2%ds over the hemisphere z = \/ 1— 22— 42
S

10. Find the volume of the solid bounded above by the cone z = 2 — y/z% 4 32 and
below by the disk R : 2>+ (y — 1)> < L.




